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Geometry

AA, $SS, and SAS Similarity Date

There are three ways to prove that two triangles are similar:
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{ Angle-Angle Similarity Postulate (AA~) j

If two f’/’ﬂf\) le.s of one triangle are congruent to two __ /& le s of another triangle,
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WHAT DO YOU KNOW ABOUT £ C AND £F? WHY?
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Verify that the triangles are similar, then solve for the variables.
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[ Side-Side-Side Similarity (SSS ~) } ABREr

If three __“3( c\KS of one triangle are proportional to three corresponding ""}(};\‘ 25 of another

triangle, then the triangles are similar.
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Since 2/4 = 3/6 = 4/8, then AABC ~ ADEF. A c 0 E

4

\ ' 1 {
(\ AT b
Jec\uese To 5

)



[ Side-Angle-Side Similarity (SASM)J

If two sides of one triangle are proportional o two sides of another triangle and their
ineluded anale  are congruent, then the triangles are similar.
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Practice! Determine if the triangles are similar. If they are, complete the similarity statement.
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Verify that the triangles are similar, then solve for the variables.
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**Challenge Problem

10. AQIR~A_TUR by SASA
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